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do
{

in

{

nclude kstdarg.h>|
nclude <stdio.h>
va list
va start Mmatros defined
va arg
va end
average ( 3, 12.2, 22.3, 4.5 ) ; // 3 more arg list
arg list : 12.2, 22.3, 4.5
num -z
average ( 5, 3.3, 2.2, 1.1, 5.5, 3.3 ) ; // 5 more arg list
arg list : 3.3, 2.2, 1.1, 5.5, 3.3
num :5
uble average ( int num, ) // num more arguements
double sum = 0.0;
int i;
[VE:TTEf'arg List; /////7/7/7777777777777777777777777777
[ggzgjgfﬁ_( arg \ist, num ); //////7/7/7/7/7/77111717777777777
: : . e Xfrachon type
for (i = 0; i < num; i++ )
sum += va_arg|( arg list, double ); /////////////
|va_end|( arg list ); /////7777777177717717771777117777717177
return sum / num;
t main()

double Xx, y;

X = average ( 12.2, 22.3, 4.5 ) ; // 3 more arg list
y = average ( 3.3, 2.2, 1.1, 5.5, 3.3) ; // 5 more arg_list

printf( "%sf\n", x
printf( "sf\n", y

https://www.cprogramming.com/tutorial/c/lessonl7.html




#include <stdarg.h>
#include <stdio.h>

// va list

—// va start

// va_arg

—// va_end

~ void argscan ( int num, ... ) // num more arguements

int i;
double x;
char c;
char *s;

va_list arg_list; /////////77//7/77/1177171771171111/17717
va_start ( arg_list, num ); //////////1/7/1/7717/11/71/17717
i =va_ arg ( arg_list, int Yi /111111771177

x = va_ arg ( arg list, double ); /////////////

// ¢ =va arg ( arg list, int )i /111111171717
// s =va_arg ( arg_list, int * ); /////////////

va_end ( arg_list ); ////////117711171771117171111717

printf("i= %d \n", 1i);
printf("x= %f \n", x);
// printf("c= %c \n", c);
// printf("s= %s \n", s);
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int main

{ A

argscan((!) , 4, 4, 10, 3.14, 'A', "hello" );
c
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#include <stdarg.h>
#include <stdio.h>

// va list
// va start
// va arg
// va end

void argscan ( int num, ... ) // num more arguements
int i;
double x;
char c;
char *s;

va_list arg_list; //////////77/7117171771171111111111117
va start ( arg list, num ); /////////////////////////(ewﬁ

va arg (

va_arg ( arg_list, douhle ); /111111117

va arg ( arg list, (int s 1111111717777

va_arg ( arg_list, char * ); ///////////1/
va_end ( arg_list ); ///////717/71111711717117111111171117

n N X K-

printf("i= %d \n", 1); i= 10
printf(“x= %f \n", x);
printf(“c= %c \n", c); i'140000
printf("s= %s \n", s); o= hello

}

int main()

{

argscan( 4, 10, 3.14, 'A', "hello" );
}

arg list, int ): //// // pd\{,ﬂ;wa



£ m oo Macro dibmbion b mpke a Strng

#include <stdio.h>

N\

— I {Mct;oh'l;ke mo(yo —

fdefine str( x ) #x I
#detine str2( x ) ™X

et Mworld !

int main(void) { —
/7 / -
0),

printf("%s %s\n“,]str(hell Lgir(wofid!) ) =

printf("%ss \n", str(hello) str(world!) ); —

——————————
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printf("%ss %s\n", str2(hello), str2(world!) ); I

printf("%ss \n", str2(hello) str2(world!) );

hello world!
elloworld!




#4 In & macro = (ontafenate

#include <stdio.h>

———#define f( x, y ) any

int main(void) {

int i = 9999;
int i0 = 20;
int il = 30;
int i2 = 40;
printf(“i= %d \n", 1); LU
/
printf("f(i, 0)= %d \n", (f(1, 0));
/161
printf("f(i, 1)= %d \n",;
iz
printf(“f(i, 2)= %d \n", ;




INn a function-like macro definition
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#include <stdio.h>

int main(void) {

printf(“1ello \"John\"\n");

printf("100%% \n");

printf("sl " "s2 " "s3" "\n");

printf("%s%s%s%s", "sl1 ","s2 ","s3","\n");
printf(" LINE = %d \n _LINE );
printf(" FILE = %s \n", FILE );
printf(" DATE = %s \n", DATE );
printf(" TIME = %s \n", TIME );
printf(" STDC = %d \n", STDC );
printf( FILE  DATE  TIME "\n");

} hello, "John"

100%
1 s2 s3

sl s2 s3
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~ FILE
DATE

t.c
Dec 13 2017

" TIME = 23:07:54

~ STDC =1
t.cDec 13 201723:07:54




